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I ’n mwn: symbiosis within segments of nnin
a  Those components that must be fully present: 10w 1 ,NIWY ,pmp
i pymz: per vv. 1-2
i pywy.v.1-nnbon
iii % N33 (v.3)
iv o for D01 NN — 133 (v. 3) — for naTI NMan v. 4 Nnwm
b Those components that are vital for each other: flour©oil; ymp©nnad
i Floureoil:vv.1,6
i anasopmpvv. 1,4
II "y mwn: sets of objects which must both be present to fulfill their mxn
a  Pairs:
i 2”71 *PYY (per npin — v. 6)
ii w1y brought on myaw (v.7), loaves brought on myaw (v. 8)
iii ~Sets of loaves, cups of 1119, cups and loaves of m»an onY (v. 9)
iv  Sets of loaves which accompany 71 % (v. 10)
b Multiples:
i 3 components of n1a (hyssop, cedar, red thread) — v. 11
ii 4 sets of loaves with nTin —v. 12, comparing to 11
iii 4 species of 29 — v. 13 — nnn NPy
1 Note: only missing if he doesn’t have all 4; but if he has them, need not take together
(a) Challenge: requirement to have them together (parallel — Y87 DY requires unity for forgiveness — v. 14)
(b) Answer: that is per nT "1, who requires TIx; 13179, TR is ideal but not vital, per v. 15
iv 4 species for ymxnn nanv (birds, hyssop, cedar, red thread)
v 7 mrin (of blood) of nnymr ma - perv. 11
vi 7 mRr on noMa and on 20t narm on 2”0y (per v. 6) and for maIwin DPYWY D'9IWIN DA (V. 16)
vii Related nn»72: if the mrtn were done 1nwY R5W or not directly facing n”x, invalid
1  But: for y1xn and nynna mron — nwy 8Yw are invalid, but off-center — valid
(a) Note: xn 1 ruling that y71¥n must be 1nwY may be X1 (DWR::NRYN) or 11271 — valid, but not ©YYa% NNy
2 Challenge: Xn»11a ruling that off-center mrtn also valid for N1
3 Resolution #1 (87017 7): 1227/0M0 "3
(a) 77777, holds that there is only nnw »1a nmon for 71 who goes into 1”97 facing nma3 (1127 — any entrance)
(b) Note: their dispute is where to divide injunctions/liability in v. 17; since » reads Y tightly, so too v. 18
(i) Challenge: if so, he should not allow for Mt in "W WTpn, where there is no nMas
(ii) Answer: v. 20 considers the locus as sanctified
4 Resolution #2 (x27): if he faces due N or S, invalid, but a bit off W is valid
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